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1. With reference to Legal Initiative for Forest and Environment (LIFE), consider the following
statements
(1) It was introduced by the Indian Prime Minister during the UNFCCC COP26 in Glasgow.
(2) In 2021 it received the Right Livelihood Award.
Which of the above is/are correct?
(A) 1 only (B) 2 only
(C)Both1and 2 (D) Neither 1 nor 2
(E) Answer not known
&M(B WLOMID &OMIFSGLGSTET L (wenwpwnd (LIFE) esmiguns, leteumd
NS SHHEMENS & 660 ITRISHEIT.
(1) HemmevGasnedled mLBES UNFCCC COP26 Qe Gurng @pdHwl dgswoomed s
S(WalILGSSLILLLG).
(2) 2021@60 o5 sifluneor eumpeunsy e emstl euDME. GG 2 etemeuniled 65

gflwimeors?
(A) 1 LD (B) 2 wL.(BGw
(C) 1 oHmb 2 Syevor(BLd (D) 1 si6060GI 2 @6Lem6D

(E) eflemL a\gflielebemev

2. With reference to poppy plant (Papaver somniferum), consider the following statements.
(1) Its cultivation and processing are controlled by the provisions of The Narcotic Drugs and
Psychotropic Substances (NDPS) Act and Rules.
(2) It is allowed to be sown only in the districts of Madhya Pradesh, Uttar Pradesh, and
Jammu& Kashmir.
Which of the above statements is/are correct?
(A) 1 only (B) 2 only
(C) Both1and 2 (D) Neither 1 nor 2
(E) Answer not known
umig esgemw (umiumeuy Gambenfl.6WlmD) UHMIsS 6\&metor(B, LN60TEUIHLD MIHEMHHEMETSH
&6U6fIhISET.
(1) oipedT &MGLIG WHMID EFWeNSSHD GCUTens LO@BHEISET LMHMID LETEHIL CILINIHL &6
(NDPS) sL_L1b ommitd eXlFlserfleor eliFlaenmed s BLLBGSSLUILGEDS.
(2) wsFw TGss&D, 2 GaTITCHED WLHMNID WD & &MEQST LT Lgefled I BHGWL

aflemsss SienI0HEHSILBHDE.

GBev 2_sitem snmmisarfled 618 /&flwimeors)?

(A) 1 L Bid (B) 2 . BGW

(C) 1 oHmb 2 Syevor(BLd (D) 1 2160608 2 B6vemev

(E) eflemL a\giflilelebemev
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3. Agni, Prahaar, Dhanush, Prithvi and Trishul are missiles developed by India. All of these are
primarily categorised as which type of missile?
(A) Cruise missiles
(B) Ballistic missiles
(C) Conventional guided missiles
(D) ICBMs
(E) Answer not known
aseofl, Wranmi, seyeg, KmSeN wHnw HiflEn U aeysenetse EbHwimeuned
2 _HaUnSSLILLLemE). Semel SiEDEITHEID (PSHETEMOWNS 6THG 6UEMSH 6I6)SHEMET0T 6T60T
eUemSLILBSHSLILL (BeTereoT?
(A) &CBED 6T6Y8&60600TE6IT
(B) umeSleivig. 8 61628 60>600TEH6IT
(C) eupdssionent eUPISTL(BSHED 6T6)&6M600TSHET
(D) sn&dlen &6
(E) eflemL a\gflilelebemev

4. With reference to rive Yamuna, consider the following statements.
(1) Tons is the right bank tributary of Yamuna.
(2) Chambal is the left bank tributary of Yamuna.
Which of the above statements is/are correct
(A) 1 only (B) 2 only
(C)Both1and 2 (D) Neither 1 nor 2
(E) Answer not known
wi(emeot mElemwils UHM, L960TEUIHLD SANHEMSHEHEM6NS HeU6HTILhISET:
(1) L6bT6N ETEOTLI) Wi(Lem6DTUNEDT 6U6VE) HEMIT Hlewer HSIWIMGSLD.
(2) s1bu6d WiemeoTuledT L5 HEMT HIEWEDuT HHIWIMESLD.
GBev 2_siter snmmisearfled 618 &iflwimeors?
GaevevorLifl eXlremaLl OLMID (PHeL elevor IAF aiglemfl win?
(A) 1 LB (B) 2 w®Gw
(C) 1 OHm> 2 STevor(BLd (D) 1 s160605) 2 @eLem6D
(E) eflemL a\gflielebemev

5. With reference to the Pushkaraly/Pushkara/Pushkaram festival, consider the following
statements.
(1) It is celebrated for each of the 12 major rivers according to the zodiac sign of that river for
12 days.
(2) It is celebrated once in 12 years.
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Which of the above statement is/are correct?

(A) 1 only (B) 2 only

(C) Both1and 2 (D) Neither 1 nor 2

(E) Answer not known

yelgasre /yesom /Ueqsmd eflpmemer upmiu GOILHL60T, NeiTeu(BD AMSHemSHSH6m6TsH
&Heuenfliri&Her

(1) @& 12 WP&HHW BHeEHES HS HHluleor Tnuledtiq 12 BT &6 Q&metor M LILBEDS.
(2) 851 12 HETTBHEHHES RUHIPEDD ESHTOuTLMLLILGEDE.

GBev 2_seiter snmHmiserfled 618 &Fiflimeors/eremen siflwimeoremeu?

(A) 1 LB (B) 2 wLBGw

(C) 1 OmI> 2 ETevor(BLd (D) 1 s160605) 2 @eLem6D

(E) elemL e\giflwielevemev

6. Which of the following countries are members of G-77?

(1) ltaly (2) USA (3) France (4) India
(5) Australia (6) UK

(A) 1,2 and 3 only (B)1, 3, 4 and 6 only
(C)1,2,3 and 6 only (D) 1,2,3,4 and 6 only

(E) Answer not known
Hledteuslo mrB&erley erhedhs HNB&HeT G—7 @60 2 _MILILN60TT H6MTE: 2_6T6meT?

1. 855160 2. siewiflaaem 3. YigmeoTen 4. @mnéHwim
5. pendlGaedwim 6. WBs

(A)1, 2 bHmd 3 WLBEW (B) 1,3, 4 ommid 6 L. BHGW
(C)1, 2, 3 wHMID 6 WLBGEW (D)1, 2, 3, 4 wHMID 6 WLBHGW

(E) elemL 6\giflwieflsbemev

7. With reference to the Judgement given in the Kesavananda Bharati Case, Consider the
following statements:
(1) The landmark judgement was delivered on 24™ April 1973 by a thin majority of 7:6.
(2) The court held that the 24™ and 25" Constitutional Amendment was entirely valid.
Which of the statements given above is/are correct?
(A) 1 only (B) 2 only
(C)Both1and 2 (D) Neither 1 nor 2
(E) Answer not known
Gamgeuneobd LMTH eupdded euprmslu’L  Sileoud GSHLNBGemsuled, LeTeuhd
SINHEMSHEHEM6NS &6U6TIIhISET:
(1) 1973 &b Syev01(B GLlimed 24 b Bl 7:6 er6dTm ELDELEO ALIIHLDLITEITEMLOUTED (Lp&HENIS
S eulprals LIl L g).
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(2) 24 wOM 25 eugs SpFweenoll FlHSIHD WHBIID OFQILIGUITELD 6T6dTM)
BSILOTDD Fonpiig).

GuwGev a&ME&HsLILLL Snpmisefled ergl siflwinersi/ sflwimereneu?

(A) 1 L Bib (B) 2 ' GGw0

(C) 1 oHmb 2 Syevor(BLd (D) 1 2160608 2 Bemev

(E) eflemL a\gflielebemev

8. Consider the following statements:
(1) Creeping Inflation is a type of inflation in which the prices of a single commodity or a set of
commodities rise which the overall price level remains stable.
(2) Skewflation refers to gradual rise in price levels along time.
Which of the statements given above is/are correct?
(A) 1 only (B) 2 only
(C)Both1and 2 (D) Neither 1 nor 2
(E) Answer not known
fetTeuIHLD SIMSHEMEHSHEMENTS &6U6UTILrhISH6IT:
(1) ol OFELID LevOTEN&EHD 6TEIILE 6 6UEDSWITET Lietoreisaongd, S b
eunpefledr ellemeuser Siebevg LML &afledr MGl elemeser QLU (HOWNSS ellemen
Hlemev HlemeunenTdng: SHEH@LD.
(2) Skewflation eredtug &meLIGUTSHED 6lemey WL Lkisefled LIQUILIGUITEDT 2 Wifemeus

SUSSEDGI.

GG e&MBS&LILLL Sahmserfley erg) sifliiners) /eremeu Sifluimeoreneu?
(A) 1 LB (B) 2 w_®Gw

(C) 1 oMb 2 ETevor(BLd (D) 1 s160605) 2 @6Lem6D

(E) elemL e\aiflwieleemev

9. With reference to the Machine Learning, consider the following statements:
(1) It is application and subset of Artificial Intelligence.
(2) The primary aim of machine learning is to develop computer programs that access the
required data and utilize it for learning by themselves.
Which of the statements given above is/are correct?
(A) 1 only (B) 2 only
(C) Both1and 2 (D) Neither 1 nor 2
(E) Answer not known
Suwirdlr sHmeneuLl LD, NeTeUIHLD HMNHemEE&H6m6NEH &6U6ufILrkig6NT:
(1) 83 aswhHems mievoreooilelledr LWOTUT( LODMID HIENETNSES(LQ ShSLD.
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(2)@wnhdHrs &MMmedledT (PSHE0TEmLD Grn&aLD,
CopemeunenT SIene HTNIGLD SHevflenf] HiTevsemer 2 ([HeuTsHd, SMhsemmeaGal HHDRISELI
LWeOTU(B SHEI6USTESLD.

GG &MB&sLLLL nhmniserfled erg sflwimers)/ siflwimeneu?

(A) 1 LB (B) 2 w®Gw

(C) 1 dHmIb 2 ETevor(BLd (D) 1 si606051 2 @6Lem6D

(E) eflemL a\gifleilsbemev

10. Which of the following group of countries are member of Shanghai Cooperation Organization?
(A) India and Ukraine (B) India and Pakistan
(C) Russia and Belarus (D) Iran and Turkey
(E) Answer not known
EMTRIGMIL 65&I6mLPLIL| SiemLoLiiled LletTeubd 61hs HTBS6rleoT & (R 2 mnitifemns 2 ererg)?
(A) et LOHMID ©_&emTedT (B) @bHwnm ommid umelerogmedt
(C) meiquim LoMMID EILIEVMT6M (D) FrTmedT LOMMID HITHSHS
(E) eflemL a\gflilelebemev
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ANSWER KEY

1 2 3 4 5
B A B D C
6 7 8 =) 10
C A D C B

www.vetriias.com



